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Continuity and differentiablity

1. If the function f is defined by

3 x 0
f(m):{a—l—l T 0

| N

and f s


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zlsAXxJMidcC

continuous at x =0, then value of a is :

Al

B.2

C.3

D.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zlsAXxJMidcC

. (sin3£) x #0|
2. If the function f(x) = ‘” is

k xz =0

continuous at x=0, then k=

Al
B.2
C.3

D.4

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_oRh5zv2NdbWf
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3, Find K, if f(x) -
[(a:z — 9), x + 3}, k,z = 3]}is continuous
at x=3,

A. 6

B.O

C.2

D. 1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_y2m1ieWcOWcM

4.The derivative of e21°8®

A 62 log

B. 2x

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_FFYCiw5zCPYy

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_yNrEjZVrnGpJ

6. i(sin_laz + cos_lzc)
T

Al

C.0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3Vj7R9lLQkXL

d

7. ——[V3z+14

A 1/2[/3z +4]
5.1/ [y32 7 1]
C.3/2[\/3z + 4]
0.3/[3E 7 1]

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_116WbLWQ8bkr

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DnmcZ6uFoTPw

0. Fill in the blanks : < [3z + 4] =
dx

o Watch Video Solution

10. Fill in the blanks: ‘d/dx{sin®(-1)x"2} =

d
1. Fill in the blanks : —[4/4 |=
il in the blanks dw[ T+ 5=

o Watch Video Solution
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12. Fill in the blanks : di[cos_l(sinac)]
T

° Watch Video Solution

. d | . 4 2z
13. Fill in the blanks : — |sin™ "~ -
dz x4+ 1

o Watch Video Solution
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14. State True/False : the derivative of [eem is

e

o Watch Video Solution

15. State True/False : the derivative of T

e™{log(4x+3)}is 4

o Watch Video Solution



https://dl.doubtnut.com/l/_2xMMGnG3bdcG
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16. State True/False : the derivative of

1 v

sin" 'z + cos 1 z| is 3

o Watch Video Solution

17. If [x = a{f — sin(6)] and

[y = a{l — cos(8)] find dzd—at(theta =
xI

pi/2)

o Watch Video Solution



https://dl.doubtnut.com/l/_I185jv8Q4HsL
https://dl.doubtnut.com/l/_XrFIVnhUUUg4

18. Verify Lagrange's Mean value Theorem for
the function {f(a:) = \/z? — 4} in  the

interval [2,4]

o Watch Video Solution

19. Differentiate y with respect to x, where

tan '{\/T+ sinz + /T — sinz}
V1+sinz — /1 —sinz

y:

o Watch Video Solution



https://dl.doubtnut.com/l/_prd1MHGDVVcI
https://dl.doubtnut.com/l/_6hN6gG6W9MlX

dy . .
20. find o if [ sin”-1 {5x + 12 (sqrt(1- x"2)}
x

/13]

o Watch Video Solution

21. Differentiate [tan1{2 v }] W.rt
1 — a2

[Sin_l{21fx2 H

o Watch Video Solution

22. Differentiate |(logz)” + z(logz)| wrt X.


https://dl.doubtnut.com/l/_iCOR4aQlVpGp
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° Watch Video Solution

3+ 243z
23. IF f(x) = ll—l——a}] find'(0).

° Watch Video Solution

24. If y:{:c—l— :132—|—a2) , prove that

dy ny
dx - 1/332_|_a2.

° Watch Video Solution
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25. IF 1+t2 d 2 t
. — an ==
TN T e YT e

find dy/dx.

o Watch Video Solution

26.1f x=3 sin t - sin 3t,y =3 cos t - cos 3t, find

T
d2— att =
dx? 3

o Watch Video Solution

1

27. Differentiate [mtan’” 4ozt —] w.rt X.
T

| 8 |
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L ' Watch Video Solution J

28. IF y=x" : show that
2
2 Y\ L1 N oy
i?) y\dz) =

o Watch Video Solution

29. x= a sin 2t(1 + cos2t) and y = b cos 2t(1- cos

().~ 4
2t) , show that — = —|.
de J,_= a

° Watch Video Solution
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30. Verify Lagrange's mean value theorem for

the following function

[f(z) = z* + 2z + 3] for [4,6]

° Watch Video Solution

31. f(x) = [(1-sin”*3x)/(3cos"2x) ,if x< pi/2], [a, if
(x= pi/2) if f(x) be a] , [{b(1- sinx) /(pi - 2x)"2 , if
x>  pi/2]lcont € uous functionatx = (pi/2)

find a and b.

o Watch Video Solution



https://dl.doubtnut.com/l/_EKM32xX0EHZr
https://dl.doubtnut.com/l/_YFq5thX9Ya1e

3zw[?{vgfrf—kg{%4—dl+;§}]

find dy/dx

o Watch Video Solution

2
33. IF y = {log(w +4/1+ :c2)} show that

d*y dy
(1+w2)$+m(%) =0

o Watch Video Solution

34. Diff. [z°* + (sinz)*”"] wrt. x.


https://dl.doubtnut.com/l/_L6jCpe6Nkw56
https://dl.doubtnut.com/l/_cYSAa1xySAmw
https://dl.doubtnut.com/l/_H2lP0vipGVFg

° Watch Video Solution

35. IF [log(a:2 —|—y2) = 2tan_1(%)} then

show that , dy/dx = (x+y) /(x-y)

o Watch Video Solution

-1
36. |IF [y— > ] show that

Vi_a?
[RNCEA R

o Watch Video Solution



https://dl.doubtnut.com/l/_H2lP0vipGVFg
https://dl.doubtnut.com/l/_S2Lr2Jvql6Ym
https://dl.doubtnut.com/l/_kN9caq566RSu

37. If y = gdsin '@ , | — 1 <z < 1]then show

d? d
that (1—(132)—3;, —:c—y —a’y=0.
dx dx

o Watch Video Solution

38.IF [a:pyq = (x + y)erq} , prove that dy/dx =

y/x.

° Watch Video Solution



https://dl.doubtnut.com/l/_KHom7rzDaRMC
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39. Differentiate

tan_1 1+a® +v1-—a® w.r.t.x
V1422 —+/1— 22

o Watch Video Solution

40.1f [(cos )Y = (cosy)”| find dy/dx,

o Watch Video Solution



https://dl.doubtnut.com/l/_KGQav5gXQgef
https://dl.doubtnut.com/l/_a0dQzsjqocW7

41. Differentiate the following with respect to

sin_1{2a’+13x} ]

1+ (36)°

o Watch Video Solution

42. IF {y: (tan_lm)2,shoth[(x"2 +1)"2

d”2y/dx"2+2x (x"2 + 1)dy/dx=2]

o Watch Video Solution



https://dl.doubtnut.com/l/_lEYXNpduASxl
https://dl.doubtnut.com/l/_zK8obuKOBUeW

ST 2
43. Differentiate [tanl{ 1-z }] with

T
respect to [003_1{23:\/ 1— xz}]

o Watch Video Solution

44. If x cos (a + y)=cos y then prove that

[ d cos2(a +
_y = ( y) Hence show that
dz sin a

-sina, a2 —|—sin2(a+y)@ =0

! dz? dx '

° Watch Video Solution
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